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One day. Raman left home and cycled 10 km southwards, turned right and cycled 5 km. Next,
he turned right and cycled 10 km. He then turned left and cycled 10 km. How many kilometers.

will he have to cycle to reach his home straight?/ o few, IHE wWd feaidn »3 BA 3 10
fadHieg Tve <s e geifon, Fel Yt i3 5 fahiied Arefes watfen|
wdl, BT Ha i w3 10 fadnfies mrtars gafom 8 fag 98 wfsnn w13 10
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b(A) 15 km (B) 10km

(C) 20 km (D) 35 km

W and X are brothers. Y and Z are sisters. W’s son is Z’s brother. How is X related to Y?/. W
M3 X IF IS Yy %3 29T TSI W T UIIZ TIT JI X DY &S o HEY 9

| (A) Father (B) Brother
b(C) Uncle (D) Grandfather B
Motorcycle is related to Battery in the same way as Life is od to 2/ HeIHTEdS
TUHAg S A GR g afme fiedie__ m@ AEEudy
7 (A) Moon (B) Man -
f (C) Sun o(D) Earth

Choose the word which is least like the other words in th}e_ggogp./@ﬂ WET 9 1 HHJ ®
TR HEEl &% ue 3 e A% yiwr d=

[ (A)Cap . (B) Turban .

J (C) Helmet - e (D) Veil
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Tn a certain code language, “617° means *sweel {and cold’, '735" means Lassi is sweet” and 263"

fag a= IA
: HH o =,
means ‘colTee is cold’. Which of the following would mean ‘lassi is cold™?/ H dg 27
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3 FH D1 I (et 15 fgA o wig" Rar BH 83 I B

(A) 713 %(B) 536

(C) 753 (D) 673

U Hee-13 faa31 97 ,,_
(A) TFS (B) IS L
(C) THS (D) TS - o
e Tee feg fugsa J:

(A) WTEMT (8) orr R
b(C) BT (D) M1 _ B
Js f&ftmi fed yTggega/eAgeNd o' J:
p(A) TT (8) B

(c) g RGE]

frrm Tl = 937 o1 3 U & 93 A o o 98 J99T8, Od fqadl gl gt 97

' (A) MITHY fafann (8) Udaragd  ffaT -
(C) AIHA fafamir (D)?ﬁgata'ﬁﬁﬁpvn

WIIH HE ‘sfee’ @ UdEl AHTS9E] BEE (qg3 J7

(A) B8 € e (8) URf3an ]
(c) Bg fa3 (o) s ]

Note: Give the right option for each of the following qulelonﬁ
“To be in the running”™ means .

(A) to be escaping from the law +(B) to be in a good position to achicve something

(C) to be included in an athletics team | (D) to be in a very difficult situation

The correct synonym for “fiendish™ would be

(A) comical (B) friendly — ]

| (C) savage . |(D)supportive

We are trying to make sure that the work is shared equally. T e
WNyin _ w(B)off ] ]
(C) out (D) with - el ‘
The meaning of the word “placid” is ; — | L

: -
(A) local - (B) distant - L
(C) angry ([.)) calm H—J A
q L] b
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=i this
“ord “on ily’
= ves it. Which part ol spe U‘h s mb / |
20. | You should |\| aise her o nnl\ \\htl\ Whe de sor L !
| sentence? 7 o ' ' ‘
| (\) d\l]ull\t ' (B) adverb
L (©) preposition (”)*“"“I”“l}‘}'l”l i [:4) ‘(d 1! alf-{M’ﬂ"" () e ",
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- } Munlu.nnt"/”“‘;” l
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! ((_)f\h](hm('(nd(\\/ PRI AN e (D) Programming / ] ¢ “( characters used by the
8 ] ! (6] die
55 ‘ Which of the fU”t‘\\’Hw defines the ‘l‘\‘»lpﬂ( s(f orle |||l| ‘)dlll'()n]"[ ]’ r lu[d’_{ C{) g) 7{&[’!’ Hj
computer?/ Jat {13 R fyga dUQed wnitdt s cRERUIR RO ,‘I
ISRRIND - —— |
- '7\.\»\ }cc_umril\\_ljon ”“:i\r‘ll]b‘\).l.‘\ (f!) bo\lll\l' / ”"[ ao |
. {Q) Collating Sequence/ QO 'diqﬂ (D) Unicode /1 13)'] 2F! 3 B _Jl
43, | \\’hat 1S thL pmt number of Pop? pol € Ll 1]\](’. ("Ud C” } 7 e ]
s B R IS e
@10 ' {12 S| moderj
24, Which of the fO“"W'“S layer isn't p:csent in the TCP/IP model but is mcluded in the 0) —3[ |
35 fisiei R 1592 ug3 Top/ 1 R ge a1 O WG o5 HISE 9 HHE |
| ( \) Network Layer /?Bs_éé‘aaguag »(B) Session Laver/ W 118-3___ e -_.A_ﬁ——f!
L | (C) Application cation Layer/ ﬁﬂl"ﬂ?\\’% @3 (D) Transport Layer/ 1/ TIHIIS T3 f
' 25. | Which of the following is known as a set of entities of the same  type that share same properties, |
,o;am.butepas st R fam § R famd et foameart @ e & mfen 7ie 3 3
__ |Tw awwﬁzfﬁﬂy@awaaéa?i
L (A) Relation set/ HET A (B) Tuples/ TUSH
; ] (C) Entity set/ feqrel He (D) Entity Relation model/ ffaTgl AET HS&
_' 261 isasetofone or mare more attributes taken collectively to uniquely identify a record.
feafaar'aséﬁe'guéumaaﬁwwga 3 Befi grEngi feg 7
| <y fefmae o e 3 |
o(A) Primary Key / W EGi __| (B) Foreign key/ feext it '
| _A(C) Super key/ BUT il (D) Candidate key/ BHlTTg Il ;

27. FNhlch of the following is not an IoT platform?/ foge fod faaa 1ot UQEE'HH adl é?

(A) Amaz:n;vvgsg\gés/ MHHES <9 A2 [ (B) M (B) Microsoft Azure/ HEIdH@a WHg

(C) Salesforce/ H&HASIH ____|+(D) Flipkart/ %"FWJEFB?

I AGGE: m%ﬁammmaﬁ%wmwav
J@yrrme [ (8) UDP’

e
———

| (€) Network o l_-(D)‘TaﬁlP\_

29. | Which of the below is not a part of the Test st Plan?/ J1 | R & :
¥ J a7 Re T <
(A) Schedule/ A58 AB) Risk/ faRg

28. | Which of the following protocol is used to link all the Nk all the devices in the loT?/ IJ&T o3 q%a&i feg

F*

&l |

—_——

——— ]

'(0) Incident Report / W< € falae_ | (o wtcxmﬂ
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The basic web servncos planrm isa rombmatlon Of

"M Mg | | S

I TV('-'—\;);”CS_%_%_*”TP (B) XML+ HTML _ JEE—
__»(C) XML + HTﬂ ‘ (D) €SS + JAVA

31. | Which o the following is not o (v pe of database?/ ﬁ’clf)’ [44) J fegeran ngl?]ﬂ & ﬁjﬂ” KUI_U,/

(A Mierarchical” JTQrgdlaqy (B) Network/ (;c 2dd o B
(@) Distributed’ [Fn1¢ (!”*lh( 3 (D) Decentralized/ ¢ i cW”V]'rTJ )
32, 1 Which of the following 15 pener; 1II\ used for pclfulmlm' asks like creating the structure of ':
relations, deleting retation’ st (&) foaae »id g 3 sl ) gezg ", wi 4]

| oG 2l i el i )y o
| ’ () DML(Dat \Lnnpnl wion Language)/ '(-[;) ()Ucr_\'/ 5_{'{_’6”
| oML Naludns Jaid

| (C) Relational Schema/ ld‘)ﬂﬁ Hfﬂ { (D) I)DJ (l)dl ! f)LﬁnlllUH [ <lﬂ"“d”<~)’ DDL'

! 3%’1?5[?) QH&H;

...... | — i I TR

33. | The values appearing in u\u1 attributes of any luplL in the referencing relation must likewis
oceur an specttied attributes of at least one tuple in the referenced relation, awmrhrf to

.1

| —rre
a integrity constraint./ dedffidl fI8Hs €9 fan 2 2um = 55 g
|

| I Y fowrdl W= = s WYF3 H ® WEHY, FEdE
A HSUEGU@W@HW@@HH@I@&@@HMWUEI ) -
2EA) Referential/ AYdgdi3 (B) Primary/ ’{M
«(C) Rdercncmg/éﬁfﬂ'&f (D) Specific/ HTH

34. | Which command is used to remove a relation from an SQL.?/ saL 3 fan weEu 5 ITGT BT
foqadt iz 23t 7idt 39
(A) Drop table/ SIYU 7T L (B) Delete/ 381

(C) Purge/ Udd (D) Remove/ fdH=e _
35. | What is the function of the following command?/
Declete from r where P;

IS 231 I3 = 94 J? Delete from r where P;
(A) Clears entries from relation/ [J8HE (B) Deletes relation/ fasms 6 fF8le gav1 v
IncdmiAg qgwr g

.(C) Deletes particular tuple from relation/ | (D} All of the ;1bo\,-e7/77@;14|3&'3 Fﬂé?ﬁ
fa&ms 3y 2ys f38le a9w J 9%

36. | A major goal of the database system is to minimize the number of block transfers betw cen the disk |
and memory. Which of the following helps in achicving this goal? 3CT9A fader © f&q Wy |

zﬁw%ﬂamﬂvﬁaﬁ&ﬂaﬂwméﬁm’i & e g3 3| aaf&rfwmﬁ@faasv

fen dd & Yz 995 &9 HeT gaer I? 7 I
(A) Sccondary storagc/ﬁaBEﬂ AcaH (B) Slor:ngc/ﬂ?@ﬂ ;
C) Catalog/ EGUAG] ] 1o(D) Buffer/ dad e

— {2
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lndtiill:h:;-‘lh(‘l\,\;,lm:d:;::‘l\;r.&t Which of the following c‘.'m be placed in llhlc ()li‘i'r:‘"“::::;;’l‘“)!_l-_», name ;

. ;‘I.l‘l\‘t‘_{’t“i\'illl)',‘ S fropy highest 10 fowest  amount, :md sorting e -
Ja;é?lsiﬂjnf fﬂ'\g‘“_lkl AR Ju il 34, ui3 f'_{.ifmuil»m ) {’)}'H g e AT E
B e I ) (g Qost RT3 AT Teat gt yie s )2 1
FROM instructor !
T — ‘! ORDER BY wlan e :
[y -(‘L\)"\_5“"‘?‘ii_“3:->‘);‘\\\“\‘n_\iik;::\:‘.li]:‘u'irf;pL weor @i | (B) Ase. Dese _ _7 e 'I
_,‘?5‘"%’5)9??75\55 i o C [ (D) AILOr the above/ Q!IJLIE’»TTiEI ﬁiﬁ’?
A I:wh ot the following tefers (o the number of tuples in a relation?/ Joi 73 frd fad '
}_ﬁ__‘l_ﬁﬁj@a’a@ <l A § oqppGe A e f""J,
L e by Med T Ty coww @B
| Q) Cardinalivy/ ITHBEA | (0) None of the above/ §U3e3 feg 6 &1~
- 39. | Considera rcl:liionﬁ(:\._lT.Ch.lYfgﬁmw following functional dependencies: |

| 35 et 1 fagsazrel 2 o g FEUR(A, 8, ¢, 0, £) 3 fedd |

; 5 ABC > D2 D—sap A PE 4T = |
L D-> AB- £ovbl__mC—K |
. i. The number of superkeys of R is B
T E J(B) 7 —
L ()10 (D) 12 '
| 40 | The property of a transaction that persists all the crashes is/ % zaans o) [eH3T 7 A :
| S9H § Seet J .
( (A) Atomicity/ WeHHRZT s(B) Durability/ %@ﬁﬁlﬁ%—ff '
| (C) Isolation/ MTETHeH (D) All of the above GUIE3 HIS ol |
41. | Which of the following protocols ensures conflict serializability and safety from deadlocks?/ J&1 l

€2 4eau &4 faaxr cqami s3Hus »3 3389 3 Al § Tellal gaGer 97 |

(A) Two-phase locking protocol/ - +(B) Time-stamp ordering protocol/ TTEH-AIY |

%g;ph based protocol/ dJfe U3 | (D) None of the above/ QUQBB’ fed aet &t
|
| (42 l The length of an 1Pv6 address is?/ fEq 1pve WIIA 1 Burd) ot I7 |
B WAB2bits (B 6dbits ]
[ &@!28 bits (0)256bits
43. | Which of the following 1P address belongs class A%/ J& fd3 14 faaar 1P MR I8 A
&8 HHU3 J |
b(A) 121.12.12.248 (8) 130.12.12.248 |
(C) 128.12.12.248 (D) 129.12.12.248 |
Which of the following I addresscs can be used as loop-back_addresses?/ RRRERE ;)%_Q_FIT{I

fd fag2 & gu-Sa »izdn o <alsnr m wael 9y |
(A) 0.0.0.0 (8) 127.00.] = —
(€) 255.255.255.255 (D) 0.255.255 255 7_ ]
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The correct order of corpes
machine represent

A3 WA
BW@E’@&E‘{?\'

\pondmu ()%I l.wcrﬂ; Im havmy hmctmndlnm ()f mutmu and "Wmulm
ation dlllcrcnccq \\lth shared access—tesolution and ASCII lest protocf i,

W Ascl N 1]“&8 RO il o3 1l Yz, f,mf

(A) Network, Physical. Ty

.\nxpml Data
link/ 6I<d, fevilas. Jahmige,
I

o

((}.)Nd\\ml\ l’lucnt.\lmn Dahlmk
\pphmtmn ““E?éaa 1[H‘:F\’T Jret

46. \

DTS S wigi] os1 uad € H g i

(B) Network, Physical, Data link. /\ppll( alion/ L
d, fewllas, grer fda, Mudldns |

3)6‘:(

w(D) Network, Presentation, Physical, Transpory/ -

deedd, Yyndl, farllas, cdinlde

Which of the following tasks is not donc h\ the data link layer? Varsy @3 i EGEY T
S@f@azmﬁ@m@mﬁaﬁﬂ Hier 97

f8a. »hudiams
‘ (A) framing/ gdfMar

—_—

(B) error control/ Il 1"?5'5?3’?

| (C) Nlow control /2™ faWTE

—_—

o{D) channel coding/ 96 aﬁa"?ﬂ

‘AT_ l‘

47. ' Which of the following is the multiple access protocol for channel access control?/ @?)_8 ?AT?{
L WW%MWWWWW@?
r T(A) CSMA/CD (B) CSMA/CA |
L ‘ (C) Both CSMA/CD & CSMA/CA (D) HDLC |
\ 48. | The technique of temporarily delaying outoomg acknowledgements so that they can be hooked f_
ll onto the next outgoing data frame is called w@aﬁf&m NI&THAH 6 HHETE]
* é@améﬁm?ﬁ@wamw@ﬁmwmmﬂﬁwwnﬁ
L forar 7w J|
\‘ \,(A) pigg ybackmg/ﬁ»ﬁﬂ%ﬁﬂm (B) cyclic redundancy check/ Fretafess faS 3l 8=
\ \ (C) fletcher’s checksum/ @39dm 9aAH | (D) parity check/Ufaet 8&
( 49. \ ICMP is primarily used for /1ICMP WY 39 3 ____ _TE=afBwawd
(A) error and diagnostic functions/ PEC] (B) addressing/ T
\nr;r SfedrdAlcd Samaw .
L (C) forwarding/ CASECIET) ' L(D) routing/ gf“ém .
50. | User datagram protocol is called connectionless because _/ @9 3T
Y & gaaHs Ifg3 fagr A J fagfa i YT
a(A) all UDP packets arc treated it sends data as a stre; 2] ot
| End)c.pundunly by transport layer/ g:%"lf;g Yoot ot g ‘[;I—CI;T] %gtggidé;;;eg/ e P
TIHUGE Y93 ©H1T HY upp Ued |
T §339 49 3 [eeus d13 dier "
(C) it is received in the same order as sent | (D) it sends data very quickly/ g Y3 3 gf}:—;——/ [
order/ fE0 37 T »T5T R AHE G | Frer IAT I )
| Reyuz Ei AR d T , -
51. | Which of the following delay is faced by the nacket in travelling rom one end - 5)91em to dnothd
e § i mzﬁ%wyéeﬁfﬂéyga%éf@ﬂ%w””@@m@aﬁwm
351 U 3 L
| (A) Propagation delay/ YA dl (B) Queuing d delay/ &3 I8 <9 =di dY o,
;——f (C) Transmission dclaLW odt L(D) All of the dbt“/bfrw E— :
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0 N T R : e M~%ﬁﬁ’g—gﬁ?
24 The default connectioy, type ysed by e s £ HTre @{‘H’

L B 5o I

<

\_-_.ﬂ-_%_g_".\_)‘ pu\l\um il'a{.h)fg‘ﬁ \ (D) N(V‘l>ll~|)L‘I‘-.“i,‘»[L‘Vl.li/ Hir?;“7-hf;mz?ﬂ--'1i§‘a’a/{
~, S - ——— R o =t o . ‘ 7- O j
i (C) Can be cither PEISIStent o mm_pcrsistcnl (D) None ol (he mentioned/ @U—aa.z f@ )
\ depending on connection request/ a}"‘},HH?{ }‘ﬁﬂ |
= R D T ot @t S FHTE
| ﬁ@ﬁﬂc QNI D g wadl
| 3 & :\ri—v =7 = . }
B L 22 RAG U N PSI—
L 52 | Toaccess the serviees ol‘lhi‘zﬁﬁﬂﬁg system, the interface is provided by the /
§ | \ £20, s . & a & n
1 | ST e Dhofi Rerel 3 ude w9 VY, fEeden O SGICER
| 7w

| (A) Library/ m *(B) System calls/ fAeH a8t -

\ (C) Assembly instructions/ RS} fageH | (D) AP/ FRVRAL |

54. | Which onc of the following iw/% Tl fed fagar 7 &t 97 JI
(A) kernel remains in the memory during |«B) kernel is made of various modules which cawl__be '
| the c:uirc %ﬁ%ﬁ%% loaded i.n running opeﬂrating sysiem/ EGLYS) éﬁ-éﬂ I
3 g NS = wfenn JET I 1 98 IJ Sudicd |

frrey fg B3 adl o3 7 I d

(C) kernel is the first part of the operating | (D) kernel is the program that constitutes the central

‘? system to load into memory during core of the operating system/ ddES @U q:a'[ETH ak
booting/ TI&S Budféar fARaH = SIS ey © ddl ad gager J f
| yfgs iR 3 1 giéar Savs Andl B ,
N fég &3 J=r 9 |
) 55. | In a timeshare operating system, when the time slot assigned to a process is completed. theﬁg
process switches from the current state to? -
- e Emig Guaféal frmeH feu, e fid yfafan ®e faguras Ml AT ydr 3 #ier
3i Yffgnn Yiger Afe 3 fom fou T A 7 ) |
= +«(A) Suspended state/ WVBE Afgsl (B) Run state/ I& Afa3 ]
73 \ (C) Ready state/ EIGRIIEE] i (D) Terminate state/ 23Hd<C Hig3! i
56. | For an effective operating system, when to cheek for deadlock? / f&R 1]3‘@ tuafdar ﬁ:ma'
=] =el, ¥38 o 7Y q¢ 96l 98l 9

is made/ dd | (D) none of the above/ QU'QSB fed It &l

(A) C"‘*‘Q’limc_,il,FS:_SOUTCC,'LL‘-}-'lLl%SLjS—lmm (B) at fixed time intervals/ fomfas ™M s,
fixed time intérvals/ I 19 fEel AI3 REEINRSET R
ez T @ wizgmt 3 =i 7l J

(C) every time a resource request
ol

=g frq HaZ a3l i el J !

= 57. | The operating system maintains a ______ table that Keeps track of hmﬂv many l’rmmj Jhave been |
ter’? allocated, how many are there, and Uhow many are available/ SuIféar famen feg |
39 Juerd [ fod g fsguas 13 are o, fFd s, »13 |

e g gerel Juer d 7 (€

e q J6| S T T . -
fd& Quzay J6! (B) muppingﬁﬁﬁﬂ

— EMEM”‘:; (D) frame/ G e

,(C) page / U IR

7 of 15



On systems where there ;

58.

1)

.

"

EREi

—_—a

I Unix. \\lmh \\\lun

| yfafenn S8R Y,

L(A) create/ ITT —_—

(C) new/ t\"@‘_" I

| The interval imm the time of submission of

are mlllllpk oper ating $
R 3 R e g
B onpg i3 i d
(A) process control blogk/ 1Lfard>>{' foul Efe

‘ (_7 hnl\/ acﬁ |
(D) none nf [I]L munnmcd/ @L[‘JE{S’ f@@ ?Eﬂ m

s

(D) I"‘HNI ap/ 'l]crﬂ—c’(}u

“\'sltm the dtusmn m I(md a pdl(l(.lil i nm n

Guafedl ey g, fan femm & o3

a meus to the time of complction is on is termed as

L] ( nnL

> g

(B)A .f_ilc control block/ (JIWM f(ﬂrf},’a‘? 3P

¢ 1ll Cre u“ th NEW pmcc% /R l(‘»om Fc{-] fd—iﬁ' fHHH}{ Pl

1__\\_ 1A yfsfann & my qos 2 M3 S A yar Je @ A I R AT §

f@@ﬂf@ﬁl

| (A) \\amn" mm @Sl ’_T-THT ]

VL(B turnaround time/ 9B ! AH

—_—

| {C) response time/ lﬁl@ 3d AN

(D) throughput/ a}l?_'

\§ hich scheduling algorithm is defined in Time quantum?/ FHT niieH <9 faast IGERIGH)

i Mg & igsifis izt famr 39
C(A)s 101't€btJOl) scheduling algorithm/

foQa3 afsefsa

L(B) round robin scheduling algorithm/a‘gﬁ' Gl

(C) prlonty schedulmg algorithm/

i N

fa8 mfsEflar Wadifger

(D) multilevel queue scheduling algorithm/ HECTEE

Banker's algorithm is used? /QE(ET-I 7’3’8??[126@-[ < €33 fam == <15t gid ﬁ?

«(A) To prevent deadlock/ EERAC 5

g B

(B) To deadlock recovery/ 338Td Tgqedl JI& B8

(C) To solve the deadlock/ 338 §
J% 9d8 &

(D) Nonc of these/ Tat fod & &

The time taken to move the disk arm to the desired cylinder is called the

»igH & BT 839 3 fome 88l Baie T8 A §

g 7o 9

/ f37a

(A) positioning time/ UdliAfSdr At

(8) random access time/ I3 MIHH A

(C) seek time/ At AT

o(D) rotational latency/ IHES TIH

64.

In the

servicing requests till the other er
servicing continues./

3 oH e <8 #idl 3, fSAa @ €

(A) LOOK/ B

(B) SCAN/

(C) C-SCAN/ HI-Fal&

(D) C-LOOK/ HI-B

9/ fegst

65.

&dl 97

Which one of the following is not a secondary Storage

Y

| (A) Magnetic disks/ Nardfex f3Ad

(B) Magnetic tapes/

(C) RAM/

__,_——

e

(D) Nonc ot ths mentmnt

algorithm, the disk armn starts at onc end of the disk and moves toward the other end.
r end_of the disk. At the other end, the direction is reversed and

" mdifged 124, f3Aa »iaH 3R © e fig 3 gg 4 9
1 J Farehifal fagme 9ae 31 21 firg 3. fow

@mn@ém@m@ﬁmﬂﬁaﬁﬁél _

fe foagar B Azl mear

I I

/

Ji

{7 =]



— e ———————————

78, | RAID level 1 refers (o

I R i
- L(A) disk arrays with g,
s RN

- (C) both disk arravs w it «

Aot do, g dawr
Plng ”[Sj {d] '! (B) disk mirroring/ [:11e dfdar

L — | : J

| o ripinge and i ol e ‘ T P Q.

disk mirroripg }iig‘jl(m kVFIg %‘:3')'16" e (D) none of the mentioned’ Gydgs fea st sdl |

3 SRS fHaldar 9 |

=77 | Which of the followine eoim—— Ao

o %‘ﬁ% fgﬂ% \%3r1° \%llr“}?“]d: = o save any ransaction permanently into the Elmbmuj/_J

A oot o et 30§l 393 iy s Aot it iz 5

IAJIMT HIST < <33 Eﬁﬁ il ﬁa‘? II6) 3 EURL= |

ff,i-} Commit QIH‘E_H\"\_’”_'_“' —— e '
- (B) Rollback/ Jweg R

() Savepoint/ HAPHTEa ( ‘ <
" D) None of the above
Which-one of the following ove/ @UQBE’ fed asl &t

i s i, Satements abdut normal forms js FAJ] SEo STIHH I
qu fe_%faas_r Dé‘) E/W’H’E ?7878(}—0’7’

I
: Sl
(B) LQES]C_SS, dgp_e_n@cy -preserving d#‘COmm)Sﬂ_iQn |

<y
(51

(A) BCNF is stricter than 3 NF/3 f a8

| 3 . |

BONF TS into 3 NF is always possible/ 59 If3, fsggazr |

| - 3NF Q9 SIS & Btz Jue g Fae

| o d |
C) Loss less, f— ' i i

! (C) Loss less, dependency preserving e(D) Any relation with two attributes is BCNE/ 3]

|

decomposition intq_lﬁgN‘F_i_silw_@ys fermset g e < AYU BCNF I
 possible/ 5aAs Ifa3, fsggdsr - sonr fig
SRS § B3 Suer o Hee ger 3

6s. i_What address identiﬁes_&m@ﬁim(l&?/ foragr mizdn ¥ Ine 3 BIEELT < Ug'T |

IS 47 ;

\—
| () Physical address (MAC)/ fedla® [ (B) Logical address (IP) Srtas WSaH (11) ]
—_M3dA (MAC) N
{0 Port address/ Tge HZTH o(D) Specific address/ FF e WBIH |
70. Decryption and Encryption of data are the responsibility ?.F which of the following layer?/ 1T €}
| SIS W Ainfqums Jat fogt ua3 &9 fam & fifnerdl 3 -
- L0 TS A
— | {A) Session layer/ HHG U3 (B) Network laver/ $2edd Yd3 __/
j\,\(\c)_'l'ransp(m layer/ JUge Ud3 o(D) Presentation Iz}ycr/w yd3 TR =
7 e e ) S [9] ~ n
L [ How many bits are needed to store onc BCD digit?/ fex sep »ig & W &G BT /

|
\ T Ul |
~ I3 gaq, - ]

- (B) 4 bits o e
(D) | bit
known as universa

T\-s\ (C] 3 bi[g g e
| Which of : - | garesy) BTE did @ fedai Hel fed
ich of these sets of logic gates are ) o

|

|

~ 95 § Yeleqs gier = A e’ J: - e
1M XOR NAND OR  (B) OR, NOT, XOR SR T
~a — 5 - — " [(D)NOR, NAND i} 1
e 1(C) NOR, NAND, XNOR //E'Y%Tg e &, 9 K SBY-28Y feg 1K =5t & ))f("HETTf
| %”he toggle mode, a JK flip-flop has/ 2 ol
i ? ,

—]

~ ~ Eé\))‘lj O K=| f’//"”""{(ﬁﬁ‘jpl- K=0_ : .
—1\. \-lg,\K:_:nO L il

g of 15



S -‘___—'_'—w“‘-‘—-//_ -] N - —— . \
72 | 2's complement of TOT1011 s/ 1011011 27 2's conﬂ’_'f”__’_’_c_'!‘@_m e !
ottt ool
—[@oio00ll__ o(D) 0100101

| e T e e

—75. | Adigital cireuit that can store anly one bit is o/ 060 3T Hagre 11 frrae fia fiz wag 4,

T Register
#(C) Flip-flop

Wﬁ,@aéjea

o (B)NORgate
| (D) XOR gate

76. Dc;\‘Iorgnn’s I,,.u(v :tm\ li{:li,f 3] ﬂa—cﬂ?) U‘ FHIF_’:}EFET@L?)T:BL o e —
I L N [ T R ) i
fm)‘ = .~\'5+T;{~“Hl‘ S (D) (AB)' =A+DB S R

77. | The Minterms tm?@i&lld@g&’ g divgst sl fHaeaHH -

s B)16 I T .
N A Sl | r—
78. | The result "X+ XY = X" follows which of these laws?/ SIFT "X + XY = X" [8d&T feg fads |
fom B use wge I ‘ |
| (A) Consensus law/ BIREEREN (B) Distributive law/ €3 &1 [&TH ) - L
L (C) Duality law/ T<3 TS o(D) Absorption law/ AYE f&TH f
79. | The largest two digit hexadecimal number is /2 gt °f 79 I <35 mm |
AR y - -
(A) (FE)s (B) (FD) 16 |
(C) (FF) 16 (D) (EF) 16 - |
80. | The prime implicant which has at least one element that is not present in any other implicant is r
known as /W{Wmﬂﬁﬂuﬁ-uﬁﬁa% Wj@éﬁm% |
feufsde €9 Yige &d Jer 3 T Hifent Fier I
.(A) Essential Prime Implicant/ fTe R HM &% (B) Implicant/ Fé’lﬂ@ﬂ'a? L
ye fyside ——
(C) Complement/ Ydo / (D) Prime Complcmcnt/’{rﬁH ydod
81. | Which one of the following is not the application of the stack data structure/ JoT fo3 ﬁ;"@ﬁ i
82 AR 3" He39 v Quuiar a4 3 ‘
_y(A) String reversal L@B) Recursion i
‘;,(c) Backtracking l (l?) Asynchronous dTltaT'an‘sAtgrih*‘—‘ - *:__‘,
82. | Which data structure s requircd to convert the infix to refix notation? T8&feay § 1 -
GHG 29 ene Y faud 3o geg o Bu g 3, £
S A(ﬁ)_sla_‘i(___"_______“__ﬁ__ (B) Linked List B
) Binary Tree ‘(_D)_Q_u;ue‘q____‘_'—‘q'—_'ﬁ T L
83. | Which of the following is the prefix form of A+f

9y Jv ’ O"ﬁ@/a@ fe3 &5 fagar asec o Yilean

]

((S)AA[;_(%&E)‘ — (B) tAB*C

Dyt "]




S —

B - r th
Y Y » ' v . = / / l I)L, ll‘(v (Jld(" ‘()
If the elements '1", 2 '3y and "' are .uldul in o stack, W hat wottlc %Eﬂ""

ﬁaagg | nvru-\y)){—g 1 e r‘o{‘ \.}1 2 1]]\ a” .J[ J(II@ {IT \ﬂ q-H V‘»{[_?i~’ I

e ) w4

ovfll
¢ er -

(A) 1234 -

(C) 4321

ESpm—. % S SRS

§5. | Which one of the ‘\“‘t\\\mw is the mulhm condition if the lincar quulu

array with a size MAX Sz, ﬁoz{] Jfl{o{ 3 {) MAX_SIZE MTeTd 2 58 feer d <l {d?
S B I A J 3 s fofimdt A J faad) Geaed HiEd] J9

—

D) None of above L g
6 B :mplcmgnu,d using an

e

(\) rear = front ’ ‘(E)ﬁlf,dl h‘(mll I
o(Q)rear=MAX SIZE-1 | (D) rear= MAX SIZE

86. | The time mmpk\n\ of’ enqueue « \n)ualmn in Queuc is _/ d3'd <9 Wﬁ‘z@ Gudas o AHI

am:w -
LA O o(B) O(n)
1 (C) O(logn) (D) O(nlogn)

0o
~I

| Which of the followi ing properties are obeyed by all three tree — traversals?/ IS Tt f_‘&’FTFBET
| R g feRmEe § 135 & Szams oo Ve A 32

j\‘i,(’“ Left subtrees are visited before right B B) Right subtrees are visited before left subtrees—/ﬁj
‘ 1‘ subtrcesfﬂéﬁa‘ﬁﬂﬁﬂﬁﬁa’cﬂ'ﬁg Wh?WﬂﬁHHéﬁB%ﬁ?a’i?w |
i | Ufast fefae iz mfer I |
\ | (©) Root node is \isited before left (D) Root node s visited before right —
\‘ \‘\ subtree/ g€ &3 6 ¥ Faem 3 Uldst | AR et 3 Ufgst fefye s Hr;:bat‘rec/m
g | fefae iz 7i=7 T
\ 8e. \'Ihe number of elements in the adjacency matrix of a graph having 7 vertices is —_‘F
|  fradyt <& T < sdeiel HicaH €9 331 € Fifmn d iy
| \ (A7 lp(B) 14 SN
| | (C) 36 | (D)a9 —

| 89. | In amax-heap, the element with the greatest key is always in the which node? WMOIZH-TY f‘gg
79 3 =51 d+t @ 33 o fan 83 f9 Jwr Q9

(A) L caf_@d_c/_?ﬁaﬁ_é_ % (B) First stnode of left sub llLL/Hé AT ¥ Uf\UW 33 ‘J

j:j;(zﬁoa node/ ) g2 ¢ ‘S—g (D) First node Of-lrl‘qll it sub  tree/ Fial 7 Fra?ﬂ‘ Tufge 33 !

90. | Which of the following is false ahoul a binary search tree? m‘m’a’ Fil H‘é IS fgfuw f?’é I
foaar a3 J7

= e . s
(A) The left child is always lesser than its (B) The right child is always greater than its parent/ |

" pareny e S TAE WU HS™- fUB" TR S b wmi g o 2 et 3
&8 we der d .

{C) The left and nbhl suh trecs should also (D] In Oldu sequence gives decreasing order of |
v clefte

be binary search trees/ HQ m‘g 'Flﬁ Cf‘f clements/ oH Il 33T 1 U G E’HHT@Q’} 3 |
MJEMQM.‘ R

<\



Thio T T
Which of the loll(\\\mg P allows a ”w 1() 1()g m o0 dﬂf)lhu u)mpulu 501N

Internet?/ 3-5 f@tﬁ)m r&\q rqd.ﬂ Hd o8 ﬁrc‘( FT'T'T 6 QI{I NE 3 faj _(Ta
Wcﬂfgﬁ ado < nnf amp RdnE:

(\)L mnl “r] ﬂv)

—
o=l

cwhcru Oul lhe

MG fy

(B) UseNet/ Ulae . D
. \\*l—l“—-* (D)Ill’
. T ”“ 1“”‘“\'”“ is the smallest unit of data in a unnpulu 2 U

* GERWNACRR

fuGed &9 zrer & g

VBt @0 T T o
M—““‘ “““““““ B) KB
B 11 e —— | ————
95. | Tl L e -
3 w theart” of the hmu\\m \\Imh pulmms many dlllucnl operations . l{ﬁ‘ﬁa T

____' T8 993 73 4-Jy o qger

(A\) \nthmuu and logic unit

(B) Motherboard

o(C) Comml Unit

e S (D) Memory

‘@WEE@KWWW%o

94, ’T .
L' Which one of the followi ing gloups contains graphical file extensions?/ J&T CER; 'HHU' HJt feg far

(A) IPG. CPX. GCM

!

(C) TCP. JPG, BMP

%

(B) GIF, TCE, WMF =
(D) JPG, GIF, BMP ,

G

Which of the following values is the correct value of this hexadeci |

mal code ABCDEFY/ f¥ |
W%ABCDEFWMWWWE@W@? |
(A) 11259375 (B) 11259379 j
(C) 11239312 (D) 11257593 ‘

|
|

]

S6. | The speed of a modern printer is generally measured in T WMol 1 |
& "M 39 3 25 vl e 31 ———/ I e g A e —
(A) LPS (B) MMS ]
(C) PPS o(D) DP| i
97. | In which of the following computer-generation vacuum tubes were used? fegst fag f |

Qs AeIns fes 2@ feQE B wd dlF W Ao
b(A) First-generation T B (B) qc‘ond"’bnuauo;\
(C) Third-generation (D) Fourth-generation
Which of the following address is generated by CPUY J& fa) & o =

famirg 13T AT I CPU TV
(A) Logical address
(C) Actual address

—_—
—

98.

10/
statement "prml[( ,od

99. | What is the output of this st
’ "printf("%d", (at N"? S
o(A) The valuc © ofa+l)  _~ A3

R i D (,mbm I
(C) Euor message fga (C )r?raﬂlﬁmﬁ h‘ﬁ,, S —
700. | Which is a valid C expression?/ < 2 mmv numn = ”)(())g?)()i\?\_‘ —
(A) int my_num = 1 100,000 - (D) Sy _num 10000, Q‘\- -
\\‘ﬁ— ——

(C) int my num = IOOO,




T
[/’_3’0—1_ What is #include \\‘dlo I, ) V/ Hll\dlldt \|([|0 h Oﬂ 3" i T
—’”-‘——' —— — e —"

. (A) Preprocessor d"k‘t‘ll\ul{ im)ﬂ (B) Inclusion directive/ HTHE Id6 € 31EdR

sfedafer

g

(€) Vile inclusion dircetive Gl TS | (D) None of the mentioned [EdaT 129 o8] A9l
I8 BY| sfedafee

102.

What will be the output ol llu |nuo“mn Ccode? VG A3 cAZ w W@E Hdﬁﬂmt’

#include <stdioh> iﬂ
int main() Y i3y

4

Ry =

. ]
. inty = 10000;
‘ 5. inty =34;
6. pnmf("l{ullo Wmld' %d\n", y) <.
]i 7 return 0:
| 8 b
»(A) Compile time error (B) Hello World! 34
{ | {C) Hello World! 1000 (D) Hello World! followed by a junk value
10s.

i

What will be the final value of x in the following C code?/ J&T fe3 C 93 fed x T »i3H HE &
GEGI:

1 #include <stdio.h> -‘

‘ 2 void main() 577 J
, 5 p = |
\ 4 1 intx=5‘*9/3+9; l'
| 8. } :

i (A)3.75 %3) Depends on compiler/ SYTEIBT '3 fasg3g qder

| - |
L f(C)24 (D) 3 0
|

104. | What will be the output of the following C c,odc?agr @3 cadz @ miEede St Jeam?

¥, #include <stdio.h>
2. void main()
3, { |
4. double k= 0; I
5. for (k =0.0; k <3.0; k++) 7 |
6. printf("Hello"); |
7 } (\
[ ,(A) Run time error/ IETEH ‘5{‘6—6 ~_[{BJ Hello is printed thrice/ 98 fH& =19 Eﬁpﬁ' 3 5
L (C) Hello is printed tWIce/a@' =] g (D) Hello is printed mﬁm[elx/é’g WE3 T ST _éf
g J
105. | Which one of the fo“owmg, is a loop construct that will always be executed once ’/33‘ fa3 fE’@
g 9% By sFedae 9 1 g B9 29 gBfon gregny |
(B) while |
| (A) for «(D) do while
- [ swireh of doctype in LT MLS? HTMLS <9 39erely 21 7l HeTH GIEE
1\1057 What is the correct syntax ¢ T

(B) <dou\pu Itml>

|

(A) </doctype htm!> e

i

,(D) <!doctype html>

(C) <doctype html!>

0\



707. | Which 0 the fofjgygin e

§ ing tag |s uscd_f'ur i‘n‘;crlAin v the largest llch\"—'-W“T- 9T 2 S
_égrﬂag—a o AP ' i E{, ‘ sl ¢ Il}ng‘UMI,.’l”Ml,f@ﬂay
galt 25 ?ﬁ‘p”ﬁ‘ﬁ}{ 9% Tl Qast {3 R FIT3 1 gy sy )

(A head T e i
”Ec) <h> T WB)<hl> T il
e D) heading
Which HTML, (4o e o T BUb e —
9 A81s used 1o insert an image?/ [g3d g TH| fﬂé’HTM[%Hrﬁﬁr@
B A <img U= o T — — g e —
ﬂ“ﬁmjﬁﬂ“\'@s{m&w_m (B) <img alt="him oo jpg= />
R ——— mllogo jpu /> (D) <img link="himllono. ioe” /o
109. | Which o — - e 7 milogo,jpg” />

fthe follow : _ -
ollowing tag is used to make the underlined 1oxt?/ 95 TR 5] fagar 2q

underlined (exg TET B9 =af: ey =
e te: S ) T
A= S< BE| S AR 9

oC) <> 0 I (B) <l>

110.

Whicl (D) <pre>
nch data structure is the best for implementing a priority queue?/ varfefaet fal 5 LG

(B) Linked list

A) Stack

(C) Array (D) Heap

111.

. Durgabai Dfﬁhmukl_y was associated with which of the following?/ E‘EIHFETQ, Y T
m? (o6

A) Maharashtra Mahila Sabha/ HJ'JTHId | (B) Andhra Mahila Sabha/ MTUdT HIJZT HaT
HT '

o(C) Bihar Mahila Sabha/ T§dTd HfI®" Ha1 | (D) Kerala Mahila Sabha/ 9% HiJ&T HI'

112.

Which famous female nationalist leader was part of the Dandi March by Mahatma Gandhi?/ fad3
HAJD HIIBT IrHede=! 3T HI3HT Iid @1 o3 I 318t Wigw = fdar Ao

(A) Sucheta Kriplani/ F337 fUSTE!  |.(B) Sarojini Naidw HdAa! &1fEg

(C) Indira Gandhi/ T8d" gt (D) Kasturba Gandhi/ THZJYT 91t

113.

Who was the president of the famous Gaya Session of Congress held in 1922/ 1922 <9 o
FITgH & HAgS IIW AHG 1 YUTG o H:

(A) Jawaharlal Nehru/ FTIETJd 8% &fdd | (B) Rajendra Prasad/ Iifried YA

s (C) Motilal Nehru/ H31 B8 &fad (D) Chitranjan Das/ f93d7& ©H

114.

lc” by Mahatma Gandhi?/ HJ'3HT G gorg

What was famously called the “Poor man’s Strugg R
g7 faper fagar argA AIdtE »iedl € FUGH' 57 678 HIID 3t

J L
Movement/ WRIWI »ides

1 . -Cooperation j
4(A) Dandi March/ 3131 HJ¥ {8) Now-Cooperation Movemer 72

,(C) Civil Disobedicnce Movemen

¢ THES -(D) Round Table Conference
| im president fmcv/%fgfbmﬂf%@mc@m
Who among the following was the first Muslim president 0 .

HASHS YUTs 9 Hi?
(A) Mohammad Ali Jinnah/ HOHE »Et fHad

(C) Badruddin Tyabji/ HE'_G.@?‘S SugH!
<\




|
|
i

56 T 749 facdl @]

( 116. Which 0' the ‘O”m\“‘k UOme is ot reli \lul to ¢ ud\u in India?
L//’/” (A) Deadliar ‘ mph\ fQQUS ol d‘f&ﬂ i (B) I ani ( up/ f&w,\ O(Li___-:wm_j:,j, _ ]
fl {OR anji Trophy/ a—aﬁt ‘53“6"1 | (D) Santosh Trophy/ ¥ TIDH ?T'Foﬂ e J
l H | The Super Seven medals had ht.u\ won by India at the Tokyo Olympics in which ordcr/ 29 |
MW—”WW g W38 fan i feu 12 IR we: |
(A) 2 Gold 2 Silver 3 Bronze ~ Te(B) | Gold 2 silver 4 bronze ]
Q)3 5 gold 2 silver 2 bronze —J (D) 1 gold 3 silver 3 bronze = :
0227/ |

which country at the Commonwealth Games 2

— 138 | The - highest number of medals were won by
|

1i8. ‘

oS USt 2022 9 fan on 3 W 3 U 1SS fr3 Y
—-#_’__L(_‘\’)jldn \ (B) China . i
_[s(C) Australia | (D) USA |
" 119.| Who among the following is not associated with football in India? J5 fafmft fed d< 343 &g |
Soas &% HEUS &1 O !
(A) Manisha Kalyan (B) Sanju Yadav f
l (D) Smrm Mandhana !
‘

(C) Bala Devi
120. | The term Putting is associated with which g

, (A) Hockey
l(C) Chess i _
e

ame?/ Y
(B) Football
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